
Simplification de racines 

Simplifier les expressions suivantes 

𝐴 = √29400    𝐵 = √2772   𝐶 = √52272 

𝐷 = √75√336   𝐸 = √450√63   𝐹 = √51√85 
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Correction : 

𝐴 = √29400    𝐵 = √2772   𝐶 = √52272 

= √102 × 2 × 3 × 72   = √22 × 32 × 7 × 11       = √42 × 32 × 3 × 112 

= 10 × 7 × √6   = 2 × 3√77   = 4 × 3 × 11√3 

= 70√6    = 6√77   = 12√3 

 

𝐷 = √75√336   𝐸 = √450√63   𝐹 = √51√85 

= √3 × 52 × 3 × 42 × 7  = √32 × 2 × 5 × 32 × 7        = √17 × 3 × 17 × 5 

= 3 × 5 × 4√7   = 3 × 3√70  = 17√15 
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